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<html>

<head>
<title> Esercitazione JavaScript: uso delle matrici </title>
<script type="text/javascript">
Ll==
var allievo = new Array(3);
allievo[0] = new Array(5);
allievo[0][0] = 1; // 1° voto
allievo[0]1[1] = 3; // 2° voto
allievo[0]1[2] = 5; // 3° voto
allievo[0]1[3]1 = 7; // 4° voto
allievo[0]1[4] = 9; // 5° voto
allievo[l] = new Array(5);
allievo[l1][0] = 2; // 1° voto
allievo[1]1I[1]1 = 4; // 2° voto
allievo[1]1[2] = 6; // 3° voto
allievo[1]1I[3]1 = 8; // 4° voto
allievo[1]1[4]1 = 10; // 5°
allievo[2] = new Array(5);
allievo[2][0] = 4; // 1° voto
allievo[2]1[1] 5; // 1° wvoto
allievo[2]1[2] = 6; // 1° voto
allievo[2]11[3] 7; // 1° voto
allievo[2]1[4] = 8; // 1° voto
/* le alternativa contratte sarebbero state:
1°:
var allievo = new Array(3);
allievo[0O] = new Array(l,3,5,7
allievo[l] = new Array (2,
allievo[2] = new Array(4,5,6,7
2°:
var allievo =
=/
1 )==>
</script>
</head>
<body>

<table border="1">

<tr>

<th>&nbsp;</th>

<th>1lg&ordm;
<th>2g&ordm;
<th>3&ordm;
<th>4g&ordm;
<th>5&ordm;

</tr>

(c1,3,5,7,91,12,4,6,8,101, [4,5,6,7,8]];

voto</th>
voto</th>
voto</th>
voto</th>
voto</th>

<script type="text/javascript">

Lll==
for (var i = 0 ; i < 3 ; 1i++)
document .write ('<tr><th>"'
for (var j =0 ; j <5 ;

document .write('<td align="center">"'

'</td>");
}

document .write('</tr>");

voto del 2°
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+ allievo[i]l[]j] +

allievo</th>");
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/===
</script>
</table>
</body>
</html>
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